
"SED" MISCELLANEOUS SPARE PARTS  
APS Pricing Effective: November, 2014   

    

JH # Description List Price  

    

SEL-04-00015 Rubber Bumper 12" x 13" x 4"  $   51.50   

002-071 Screw, 1/2"-13 x 3"  $     1.60   

009-004 Washer, 1/2"  $     0.55  

002-035 Hex Nut, 1/2" - 13  $     0.85   

6063B01 Link, Lower, Spring, 2 Holes  $     7.95   

002-106 Clevis Pin 3/4"  $     3.95  

002-110 Rue Ring, 3/4"  $     0.75   

5547BA Handle (Square)  $   63.75   

042-028 Washer, 3/4"  $     0.65   

002-062 3/16" Grease Fitting  $     1.10   

024-028 Hex Nut, 3/8" - 16  $     0.55   

002-144 Fender washer 2" O.D.  $     2.15  

002-143 Screw 3/8" - 16x5 - 1/2"  $     1.40   

5545B01 Shaft Spring 3/4" x 12"  $   21.00  

002-065 Roll Pin, 3/16" x 1-1/2"  $     1.10   

5803B02 Link, Upper, Spring, 3 Hole  $   15.55  

5539B01 Extension Spring 20K  $   31.50   

5539B02 Extension Spring 30K  $   31.50   

6062BA Link, Upper Toggle  $   49.75   

5802B01 Link, Toggle  $     8.65   

5881A01 1" diam. Extension Spring  $   10.20   

5553A01 Link, Spring, Connector  $     4.00   

5837A01 Link, Spring, Connector  $     5.00   

002-108 Clevis Pin, 1/2" x 1-3/4"  $     5.55   

002-109 1/2" Rue Ring  $     0.75   

014-009 Hex Nut, Lock 1/4"-20  $     1.10   

002-069 Screw 1/4"-2 x 1-3/4"  $     0.75   

002-107 Clevis Pin, 1/2" x 2  $     3.25   

002-130 Roll Pin, 5/32" x 1"  $     0.45   

6174B01 Cam Plate  $   46.75  

 



"SED" MISCELLANEOUS SPARE PARTS DIAGRAM 


